	
	Name 
	
	Date
	


	
	Name 
	
	Date
	


	
	Name 
	
	Date
	



[image: image1.jpg]



Activating Prior Knowledge
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Check
Find the area of the each shape.

1.
A triangle with height 3 m and base 4 m

2.
A triangle with height 2 mm and base 5 mm

3.
A rectangle with length 7 cm and width 1.5 cm

4.
A square with side length 11 cm

5.
A circle with diameter 8 cm
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Activating Prior Knowledge continued
Check
6.
Find the circumference of a circle with radius 4.5 m.

7.
Find the radius of a circle with circumference 37.7 cm.
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Circumference of a Circle																					Quick Review





The perimeter of a circle is named the circumference.�The circumference is given by: C = (d or C = 2(r �(Recall: d = 2r)


Example 2


Find the circumference of the circle.


�


Solution:


� EMBED Equation.3  ���


The circumference of the circle is about 22 cm.�


Example 3


The circumference of a circle is 12.57 cm. Find the radius of the circle.�


Solution:


To find the radius of the circle, divide the circumference by 2(.


� EMBED Equation.3  ���


The radius of the circle is about 2 cm.









































Area of Two-Dimensional Shapes															Quick Review





To find the area of a rectangle, multiply its length by its width.


To find the area of a triangle, multiply its base by its height, then divide by 2. �Remember the height of a triangle is perpendicular to its base.�The formula for the area of a triangle can be written: � EMBED Equation.3  ���


To find the area of a circle, use the formula: A = (r2 where r represents the radius of the circle�Recall that ( is a non-terminating and non-repeating decimal number.�So, any calculations involving ( are approximate.


Example 1


Find the area of each shape.


a)�
��
b)�
��
c)�
��
�
Solution:


a)�
� EMBED Equation.3  ���


So, the area is 8.36 cm2.�
c)�
Use A = (r2. Substitute r = 6 ÷ 2 = 3.


� EMBED Equation.3  ���


So, the area is about 28 mm2.�
�



b)�
Use � EMBED Equation.3  ���. Substitute b = 12 and h = 3.


� EMBED Equation.3  ���


So, the area is 18 m2.�
�
�
�
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